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16 A company nakes monsters.
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Height 206
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14 In the diagram AB s parallel to CD.
AED and BEC are siraight lines.

A B

c D

Prove that triangle ABE is similar to triangle CDE.
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21 Toy building bricks are available in two sizes, small and large.
The small and large bricks are mathematically simlar.

‘A'smal brick has volume Bcm’and pidth 2 1cm.
‘Alarge brick has volume 15 625 cm

Caleuiate the width of a large brick.
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12 The diagram below shows two right-angled triangles.

R
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Prove that triangles PQS and QRS are similar
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12 Two similar pyramids A and B have surface areas 180cm? and 80cm? respectively.

Pyramid A Pyramid B
The volume of pyramid A is 810cm3.

‘Show that the volume of pyramid B is 240 cm?.
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Aand B are similar solid cylinders.

base area of A : base area of B 5

Complete these ratios.

curved surface area of A : curved surface area of B =

height of A : height of B =

[2 marks]
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‘These two triangles are similar.
Not drawn

accurately
12em
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20cm

Work out the value of a.
[2marks]
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23

‘Aand B are similar cuboids.
surface area of A surface area of B.= 16 25

Work out ~ volume of A volume of B
Circle your answer.

(1 mark]
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PRT and QRS are similr triangles.

Which of these is equivalent to 282
e PR

Circle your answer.

ar

38
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2%

Two boxes are made with card.
‘The boxes are similar cubods.
‘The smaller box has height 32 cm

a2em

s

It takes 4% more card to make the larger box.

Work out the height, , of the larger box.

[4 marks]
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14 Here are two squares, A aad B.

‘The length of each side of square B is cm geate than the length o each sid of square A
‘The area of square B is 70’ graterthan the avea ofsquare A

Find the are2 of square B.
Gire your anever comsct to 3 significant igures
You must show all your working.

(Total for Question 14 is 4 marks)
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7 Here are two rectangles.

B 0
4 2
> 3
s 2
0= 10em
)
The primeter o 45CD s 6
T i of PORS is 5

Find the lngth of 5.

(ota for Question 7 s 4 marks)
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13 Here are two similar sold shapes.

surface arc ofshape A:surface arc of shape
“The volume ofshape B is 10’

Work aut the volume ofshape A.
Give your answer comeet o 3 sgnificantfigures.

(lotal for Question 13 is 3 marks)
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